CASE STUDIES

Jason and Andrea Dalton

Personal Data

	Husband:
	Jason Dalton, age 51, Senior Executive for XYZ, Inc.

	Wife:
	Andrea Dalton, age 48, Homemaker

	Children:
	Ashley Dalton, age 14 (starting 9th grade)

	
	Carl Dalton, age 11 (starting 6th grade)

	Jason’s parents:
	Father deceased, Mother, age 77, in nursing home

	Andrea’s parents:
	Mother, age 68, and Father, age 69, in good health


Financial Data

	Primary Residence (JTWROS)
	$850,000

	Mortgage on Primary Residence
	($325,000)

	Vacation Home (JTWROS)
	$350,000

	Mortgage on Vacation Home
	($125,000)

	Cash Accounts (JTWROS)
	$80,000

	Jason’s 401(k)
	$400,000

	Jason’s IRA
	$125,000

	Andrea’s IRA
	$17,000

	Investment Brokerage Account (JTWROS)
	$375,000

	XYZ, Inc. Stock (Jason)
	$1,300,000

	Single Premium Fixed Deferred Annuity (Jason)
	$72,000

	Cash Value of Life Insurance
	$105,000

	Jason’s automobile
	$25,000

	Andrea’s automobile
	$13,000

	Ashley’s UTMA account (Jason custodian)
	$25,000

	Carl’s UTMA account (Jason custodian)
	$17,000


Income/Expense Data

	Jason’s Salary
	$350,000

	XYZ Dividends
	$52,000

	Other Interest & Investment Income
	$12,000

	Monthly expenses (excluding mortgage and taxes)
	$10,000


Other Pertinent Information

· Jason and Andrea have filed for divorce after 16 years of marriage

· Jason and Andrea do not live in a community property state

· Jason’s cost basis in XYZ stock is $150,000, which he has accumulated over many years

· The Daltons are in a combined federal & state tax bracket of 41%

· The Daltons state that they are very conservative, and their investment account is primarily (80%) fixed-income investments

· Jason’s 401(k) account is also allocated to approximately 80% in fixed-income investments; Jason maximizes his 401(k) contribution every year

· Jason has a universal life policy purchased in 1989 with a death benefit of $500,000; Andrea is the beneficiary

· Jason has group term insurance through XYZ with a death benefit of $1,050,000 (3x salary) that is entirely paid for by XYZ; Andrea is the beneficiary

· Andrea has $250,000 of spousal group term life insurance through XYZ; Jason is the beneficiary

· Jason and Andrea are beneficiaries of each other’s retirement accounts

· Andrea is the beneficiary of Jason’s annuity (where Jason is the owner and annuitant), which has a cost basis of $55,000

· Jason has disability coverage paid for by his employer as a nontaxable fringe benefit, providing 60% of monthly income up to $10,000/month; benefits are payable until 65 after a 90-day elimination period; disability is defined as the inability to perform the substantial duties of your regular occupation

· Jason receives adequate medical insurance coverage through XYZ for the family; the Daltons have adequate homeowner’s and automobile coverage

· The primary residence mortgage is a 30-year fixed-rate loan, and was originated 6 years ago at 6.75%

· The vacation home mortgage is a 5/1 ARM loan (payable over 30 years), and was originated 2 years ago at 5.25%

· Contributions of $500/month are being made to each of Ashley’s and Carl’s UTMA accounts

· In the Daltons’ state of residence, minors receive full access to UTMA funds at age 18

· Jason’s mother is utilizing her Social Security and survivorship pension income to cover nursing home costs, and will have very little other assets remaining

· Andrea’s parents have nearly $1,000,000 in retirement assets that they are spending minimally, which will ultimately be divided between Andrea and her sister

Goals

1.
Resolve divorce proceedings in an equitable manner

2.
Provide for college education for Ashley and Carl, assuming $12,500/year (in today’s dollars) for four years for each of them

Economic Environment

Current inflation, as measured by the CPI, is at 2% (however, college costs are inflating at 6%). 90-day T-bill rates are currently 3%. Long-term government bonds are yielding 5.5%. Economic growth is expected to be 4.5% in the coming year, and unemployment is at 4.5%. Interest rates are expected to rise in the near future.

Questions

1.
If the Daltons get divorced tomorrow, and in two years, they transfer 50% of Jason’s XYZ Stock to Andrea to equalize the post-divorce property, the gift tax consequences will be:

a)
Gain must be recognized on the transfer

b)
The basis in the stock for Andrea will its fair market value at the time of divorce

c)
The basis in the stock for Andrea will its fair market value at the time of the transfer

d)
Gain is not recognized on the transfer

2.
The divorce decree states that Jason will be required to pay $5,000/month of alimony to Andrea for 10 years. The tax consequences of the alimony payments are:

a)
Not taxable or deductible by either party

b)
Taxable income to Andrea, not deductible for Jason because alimony is a personal expense

c)
Taxable income to Andrea, and deductible for Jason

d)
Not taxable income to Andrea, but deductible for Jason

3.
The divorce decree states that Jason will be required to pay $2,500/month to Andrea for child support until Ashley turns 18 and $1,500/month thereafter until Carl turns 18. The tax consequences of the child support payments are:

a)
Not taxable or deductible by either party

b)
Taxable income to Andrea, not deductible for Jason because child support is a personal expense

c)
Taxable income to Andrea, and deductible for Jason

d)
Not taxable income to Andrea, but deductible for Jason

4.
Andrea’s divorce attorney stresses the importance of obtaining a Qualified Domestic Relations Order (QDRO) as a part of the divorce proceeds. This is necessary in order to provide for Andrea’s share of:

a)
All of Jason’s assets

b)
Jason’s 401(k) account

c)
Jason’s IRA account

d)
Both B and C are true

5.
If Andrea’s parents were to be killed in a car accident tomorrow, and the divorce is still pending, how would Andrea’s inheritance be treated for purposes of the divorce?

a)
Andrea will have to split the assets evenly with Jason, since they were inherited before the divorce was completed

b)
Andrea will not have to split the assets with Jason as long as she retains them in an account titled solely in her name

c)
Andrea would never have to split the assets with Jason, because she inherited them in the first place

d)
Andrea will have to split the assets evenly with Jason, since she did not sign a pre-nuptial agreement to protect them

6.
How does the Dalton portfolio compare to their specified risk tolerance? The risk of the Dalton portfolio appears to be:

a)
Consistent with their risk tolerance

b)
Lower than their risk tolerance

c)
Much higher than their risk tolerance

d)
Unable to be determined with the information provided

7.
If the cost of college for Ashley is $15,000/year today, how much will a year of college cost her when she starts in 4 years if school expenses are inflating at 6% (to the nearest dollar)?

a)
$18,600

b)
$18,937

c)
$16,883

d)
$17,842

8.
If the cost of college for Carl is $15,000/year today, how much will a year of college cost him when he starts in seven years if school expenses inflate at 6% for the next four years, and then at 5% for the remaining three years (to the nearest dollar)?

a)
$22,554

b)
$21,922

c)
$23,018

d)
$20,878

9.
Carl’s total taxable income for 2015 is generated solely from his UTMA account, which created $1,500 of interest. Carl’s total federal income tax due for 2015 was approximately:

a)
$0

b)
$55

c)
$150

d)
$495

10.
Jason decides to invest Ashley’s UTMA account assets in a 529 college savings plan. In this situation, when Ashley turns 18:

a)
She will take over full control of the account, because she has reached the age of majority for the UTMA account

b)
Jason will retain control over the account, because he was established as the owner of the 529 plan account

c)
She will be required to immediately recognize all unrealized gains in the account

d)
Both a and c are true

11.
The Daltons have decided to send Ashley to a private high school, and need to use $20,000 of their assets to pay the current tuition bill. The tax consequence of taking a $20,000 withdrawal from Jason’s annuity for this education expense is:

a)
Recognition of $20,000 of ordinary income, but there is no early withdrawal penalty because this is a qualified education expense.

b)
Recognition of $20,000 of ordinary income, and a 10% early withdrawal penalty

c)
Recognition of $17,000 of ordinary income, and a 10% early withdrawal penalty

d)
No recognition of income at all, because this is a qualified education expense

12.
If Jason decides to liquidate Ashley’s UTMA account now to pay for her private high school expenses, the tax consequences of this sale will be:

a)
Entirely reportable on Jason’s tax return, since he is the custodian

b)
Nontaxable because Ashley is age 14

c)
Generally taxable at Jason’s marginal tax rate because Ashley is age 14

d)
Nontaxable because the account is used to pay for private high school expenses
13.
The Daltons recently remembered that Ashley’s grandmother purchased savings bonds in Ashley’s name when she was born, for use for her future college expenses. The tax consequences of the liquidation of these bonds for Ashley’s future school expenses will be that they are:

a)
Excluded from income, no matter what, under the bond interest exclusion rules.

b)
Included in income, because Jason and Andrea’s Adjusted Gross Income (AGI ) is so high that they do not qualify for the bond interest exclusion rules

c)
Included in income, because the bonds are titled in Ashley’s name, making them ineligible for the bond interest exclusion rules

d)
Excluded from income, as long as Andrea’s income in that year remains below the AGI limits

14.
If you were to draft a Personal Financial Statement for the Dalton family, the total value of Jason and Andrea’s assets would be:

a)
$3,712,000

b)
$3,754,000

c)
$3,304,000

d)
$3,262,000

15.
Jason’s maximum 401(k) contribution for 2015 is:

a)
$17,500
b)
$18,000

c)
$23,000

d)
$24,000
16.
The Daltons have decided to replace Andrea’s automobile with a new vehicle that will cost $30,000 after the trade-in of Andrea’s current car. The dealer offers them a choice of 0% financing costs for three years with a balloon payment at the end of three years, or $2,000 off if they make a lump-sum payment now. Any available cash or savings that the Daltons have from these choices will be invested in a 3-year CD at the bank at 1.25%. The Daltons should choose to:

a)
Make a lump-sum payment now at the discounted price

b)
Select the 3-year 0% financing deal

17.
The Daltons plan to purchase an automobile for Ashley as her future graduation present from high school. The car they would like to purchase costs $25,000 today and they expect its cost will increase at 2% per year. In addition, they can purchase a four-year bond at 4%. How much do the Daltons need to set aside in the CD now to have the appropriate dollar amount available to purchase the car in four years (to the nearest dollar)?

a)
$20,964

b)
$22,212

c)
$23,555

d)
$23,132
18.
If Jason were to become disabled, his disability insurable benefits would be:

a)
Tax-free

b)
Taxable as ordinary income

c)
Partially taxable and partially tax-free

d)
Unable to be determined from the information provided

19.
Assume for this question that the Daltons do not intend to get divorced. The Daltons have stated that they intend to keep their vacation home until retirement, and to make it their permanent residence once they retire. The Daltons have also stated that they are comfortable using a mortgage as ‘leverage’ to help grow their overall net worth, but would like to be debt-free when they retire in approximately 10 years, even if that means paying off their outstanding balance in a lump sum at that time. In light of this, the Daltons should:

a)
Refinance their mortgage to a 30-year fixed-rate loan

b)
Maintain their current mortgage as is

c)
Refinance their mortgage to a 10/1 ARM

d)
Pay off their mortgage immediately

20.
The Daltons come to visit you for a preliminary free consultation to decide if they would like to hire you as a financial planner. At this meeting, you mention how risky it is to hold such a substantial portion of your net worth in a single stock, although you acknowledged that you did not have any knowledge about this company in particular. Two days after the meeting, Jason contacts you to inform you that he has liquidated all of his company stock, “as you advised.” Under the CFP® Code of Ethics, you should:

a)
Not be concerned, because diversifying is always good advice

b)
Not be concerned, because it was only a preliminary consultation and you did not have a signed planning agreement

c)
Be very concerned, because the client may no longer need your services, since he has already received quality investment advice

d)
Be very concerned, because the client acted on advice you gave when you did not have all of the available information

Phillip and Marsha Sanders

Personal Data

	Husband:
	Phillip Sanders, age 44, disabled

	Wife:
	Marsha Sanders, age 44, grade-school teacher

	Children:
	Darlene Sanders, age 17 (starting 12th grade)

	
	Fred Sanders, age 21 (starting junior year of college)

	Phillip’s parents:
	Both deceased

	Marsha’sparents:
	Mother, age 68, living with Phillip & Marsha, in good health; Father, deceased.


Financial Data

	Primary Residence (JTWROS)
	$450,000

	     Mortgage on primary residence
	($175,000)

	Cash accounts (JTWROS)
	$22,000

	Phillip’s 401(k)
	$125,000

	Phillip’s traditional IRA (no nondeductible contributions)
	$105,000

	Marsha’s 403(b)
	$65,000

	Mutual fund account (JTWROS)
	$44,000

	Cash value of life insurance
	$2,000

	Marsha’s automobile
	$9,000

	Fred’s UTMA account (Phillip custodian)
	$8,000

	Darlene’s 529 college savings plan (Phillip owner)
	$27,000


Income/Expense Data

	Phillip’s monthly disability income
	$4,000

	Marsha’s annual salary
	$38,000

	Interest & investment income
	$2,700

	Monthly expenses (excluding mortgage and taxes)
	$4,500


Other Pertinent Information

· Phillip was in a severe car accident 4 months ago; he has been released back to his home, but is unable to return to his former work as a middle manager for a local firm and is totally disabled

· Phillip has a medical malpractice suit pending against the hospital that treated him; the suit is expected to be settled out of court shortly for $1,250,000

· Phillip and Marsha do not live in a community property state

· Phillip and Marsha have simple wills that leave all of their property to the surviving spouse; Phillip and Marsha have power of attorney and health care power of attorney documents that name each other as attorney-in-fact

· The Sanders are in a combined federal & state tax bracket of 20% since the loss of Phillip’s income (formerly $80,000/year)

· The Sanders state that they are moderately conservative, and their investment account is primarily (60%) equity investments

· Phillip’s 401(k) account is associated with his former employer before he left his job due to the accident

· Marsha’s currently contributes $500/month to her 403(b)

· Darlene’s 529 plan was originally funded with a $6,000 deposit two years ago.

· Phillip recently acquired a universal life policy last year with a death benefit of $100,000; Marsha is the beneficiary

· Phillip has a term insurance policy with a death benefit of $500,000; Marsha is the beneficiary

· Marsha has a term insurance policy with a death benefit of $300,000; Phillip is the beneficiary

· Phillip and Marsha are beneficiaries of each other’s retirement accounts

· Phillip pays for his own disability insurance policy that provides 60% of his former income of $80,000; the policy has a 90-day elimination period and provides benefits until age 65; the policy provides benefits for two years if Phillip is unable to perform the duties of his regular occupation, and after two years provides benefits only if Phillip is unable to perform any occupation that he is reasonably qualified for by education, training, or experience

· Marsha has no disability insurance

· Phillip and Marsha receive adequate medical insurance coverage for the family through Marsha’s employment; the Sanders have adequate homeowner’s and automobile coverage

· The primary residence mortgage is a 30-year fixed-rate loan, and was refinanced 3 years ago at a 6.25% rate

· Marsha’s mother has come to live with the family since Phillip’s accident, and her Social Security income generally covers her own expenses; she has little other assets, aside from a $200,000 residence of her own

Goals

1.
Manage family finances in the coming months as Phillip’s health declines

2.
Provide for college education for Darlene and Fred, assuming $15,000/year (in today’s dollars) (four years for Darlene, two more years of payments for Fred)

Economic Environment

The economy has been growing strong for several years. Current inflation, as measured by the CPI, is at 3.3% (however, college costs are inflating at 7%). 90-day T-bill rates and money markets are currently 5%. Long-term government bonds are yielding 7.5%. Economic growth was 5.0% last year, and unemployment is at 4.5%. Interest rates are expected to be flat or rising slightly in the near future. Economic growth is expected to slow slightly in the coming years.

Questions

1.
If you were to draft a Personal Financial Statement for the Sanders family, the total value of Phillip and Marsha’s assets would be:

a)
$857,000

b)
$849,000

c)
$681,000

d)
$647,000

2.
With the settlement of Phillip’s lawsuit, some potential tax consequences that Phillip might be concerned about include:

a)
Income tax treatment of the settlement

b)
Deductibility of the fees Phillip will pay to his lawyer

c)
Whether to request the payment in trust or under a structured settlement, rather than outright

d)
All of the above

3.
Which of the following education tax benefits is Fred NOT potentially eligible for in 2015?

a)
American Opportunity Tax Credit
b)
Lifetime Learning Credit

c)
Above-the-line Tuition and Fees Deduction

d)
Fred may be potentially eligible for any of the above

4.
For financial aid purposes, is there a difference between the treatment of Fred’s UTMA account and Darlene’s 529 college savings plan?

a)
No, they are both treated as assets of the parents for financial aid calculations

b)
Yes, the UTMA account is an asset of the parents, but the 529 plan is an asset of the child

c)
Yes, the 529 account is an asset of the parents, but the UTMA account is an asset of the child

d)
No, they are both treated as assets of the children for financial aid calculations

5.
It has just recently come to Fred’s attention that he has a UTMA account in his name. He has decided that he wants to use the funds to buy a new car, despite the fact that Phillip and Marsha intended to use the money for his college expenses. Fred may:

a)
Use the funds however he likes because he is 21

b)
Only use the funds for college, because he is still a college student

c)
Only use the funds for college, because his parents can control the money that they contributed to the account

d)
Use the funds however he likes, once he graduates from college

6.
What are the tax consequences of the earnings portion of a withdrawal from Darlene’s 529 plan to pay for expenses for Phillip, given that he is both disabled and the owner of the 529 plan?

a)
Tax-free and penalty-free

b)
Tax-free, but subject to a penalty

c)
Taxable, but penalty-free

d)
Taxable and subject to a penalty

7.
The Sanders would like to take a withdrawal from Darlene’s 529 account to pay for a computer that she will use for school. The tax consequences of the earnings portion of this withdrawal are:

a)
Fully taxable and no penalties will apply because the funds are being used for a school-related expense

b)
Fully taxable, but a 10% penalty will apply

c)
Fully tax-free, but a 10% penalty will apply

d)
Fully tax-free (as required by the institution she will attend), and no penalties will apply because the funds are being used for a school-related expense

8.
If the Sanders want to improve their ability to qualify for financial aid, which of the following strategies might be appropriate?

a)
Liquidate the mutual fund account to pay down part of the mortgage

b)
Take a withdrawal from Phillip’s IRA to pay down part of the mortgage

c)
Both a and b

d)
Neither a nor b

9.
Darlene plans to attend a college that costs $15,000/year in today’s dollars (payable in a single payment at the start of each school year), with expenses inflating at 6%. How much will Darlene’s total college expenditures amount to by the time she graduates (to the nearest dollar)?

a)
$65,619

b)
$69,556

c)
$73,730

d)
$89,630

10.
The Sanders owe a semester tuition payment for Fred right now, and another two payments every six months after that – a total of three payments, at $9,000 each. If the Sanders keep Fred’s tuition funds invested in a money market (and rates stay level), how much will the Sanders need in the account to cover all of the payments (to the nearest dollar)?

a)
$24,509

b)
$25,704

c)
$26,347

d)
$27,000

11.
If the Sanders refinance their mortgage for a 5/1 ARM 30-year loan at 6.25%, and have closing costs of $4,000 which are also refinanced, the monthly total principal and interest payments on the new mortgage will initially be (to the nearest dollar):

a)
$1,078

b)
$1,088

c)
$1,102

d)
$1,113

12.
Phillip and Marsha provide $500 to help cover the cost of Marsha’s mother’s prescription drugs. The tax consequences of these payments for Phillip and Marsha are:

a)
Not deductible, since the payments are not for Phillip or Marsha or their children

b)
Not deductible, because Marsha’s mother pays more than half of her own expenses and is not a dependent

c)
Fully deductible as medical expenses, once Phillip has reached the 10% threshold for medical expense deductions

d)
Fully deductible as an above-the-line prescription drug deduction for parents

13.
Marsha’s mother is considering a sale of her residence to live permanently with Phillip and Marsha, after owning and living in the house for the past 20 years until she moved in with the family last month. The house has a cost basis of $50,000. The tax consequences of this sale will be:

a)
$150,000 of long-term capital gains

b)
Tax-deferred as long as she purchases another piece of real estate of equal or greater value

c)
Tax-free, because the sale was necessitated by Phillip’s disability

d)
Tax-free, because Marsha's mother has owned and lived in the house for the past two years of the last five years
14.
Phillip would like to move his 401(k) funds to an IRA, since he does not plan to return to work at his employer. He has requested a full distribution of his 401(k) account balance to be sent to him by check. The tax consequences of this distribution are:

a)
Fully tax-free, because Phillip is disabled

b)
Fully tax-deferred and not subject to withholding, because Phillip intends to roll over the proceeds to an IRA within 60 days

c)
Fully tax-deferred, but subject to 20% withholding; Phillip will need to make up the 20% to the IRA within 60 days

d)
Fully taxable no matter what, because Phillip did not execute this transaction as a trustee-to-trustee transfer

15.
Phillip would like to take a withdrawal from his IRA, and would like to know the tax consequences of this transaction.

a)
The withdrawal will be entirely tax-free, because Phillip is disabled

b)
The withdrawal will be entirely taxable, but there will be no early withdrawal penalty because Phillip is disabled

c)
The withdrawal will be entirely taxable, and there will be an early withdrawal penalty because Phillip is not 59½

d)
The withdrawal is not allowed, because Phillip is not 59½

16.
Phillip and Marsha want to establish a home equity line of credit to help handle some of the current expenses. The tax consequences of borrowing $50,000 against their house for personal expenses are:

a)
Interest will be fully deductible as mortgage interest, regardless of whether the Sanders are subject to AMT

b)
Interest will be fully deductible for regular tax purposes, but will not be deductible for AMT purposes

c)
Interest will not be deductible, because the Sanders did not borrow the money to acquire or improve their residence

d)
Interest will not be deductible, because borrowing for personal expenses is never deductible

17.
If Phillip’s health improves to the point where he could get another job in two years for similar pay, even if his health does not allow him to return to his old job, then his disability benefits will:

a)
Cease because he is qualified to obtain such a job

b)
Continue as long as he does not actually get hired for a new job

c)
Cease regardless of his qualifications, because the 2-year payout period has elapsed

d)
Continue because he is not yet age 65

18.
The tax treatment of disability insurable benefits from Phillip’s disability policy will be:

a)
Tax-free

b)
Taxable as ordinary income

c)
Partially taxable and partially tax-free

d)
Unable to be determined from the information provided

19.
Assume that Phillip has recovered to the point where he could probably work part-time at his old office doing some basic work, making approximately 30% of his old income. However, he would prefer not to work at all, and would like to apply for Social Security benefits instead. Is this a reasonable plan of action for Phillips?

a)
No, because Social Security disability benefits are available only if the individual is totally disabled, and Phillip is able to work.

b)
No, because Phillip’s private disability benefits will make him ineligible for Social Security disability benefits.

c)
Yes, because Phillip’s private disability and Social Security disability benefits still leave him earning less than his original income.

d)
Yes, Phillip can receive Social Security disability benefits as long as he is not actually working again.

20.
Phillip has actually been feeling remarkably better over the past few weeks, and secretly believes that he could return to work full time right now without too much difficulty. However, his doctor is a personal friend who will continue to certify that Phillip is disabled, and may have been doing so (improperly) already for the past month or two. You should advise Phillip that:

a)
Until the insurance company stops him, he should continue to make claims, because his family really needs the money

b)
His “malingering” behavior is unethical, but is not illegal

c)
If his doctor will certify total disability, he should try to obtain Social Security disability benefits as well

d)
If the insurance company finds out, they will stop his future payments, and may attempt to recover the payments already made as well

James Wilson and Harold Newton

Personal Data

	Client 1:
	James Wilson, age 37, computer programmer

	Client 2:
	Harold Newton, age 39, small business owner

	Children:
	None

	James’ parents:
	Mother, age 62, father, age 61, in good health

	Harold’s parents:
	Mother, age 59, father, age 64, in good health


Financial Data

	Primary Residence (Harold)
	$300,000

	     Mortgage on Primary Residence
	($155,000)

	Bank Checking Account (James)
	$7,000

	Bank Checking Account (Harold)
	$12,000

	James’ 401(k)
	$41,000

	Harold’s SAR-SEP IRA
	$48,000

	Trust FBO Harold
	$625,000

	Mutual fund account (Harold)
	$114,000

	Harold’s automobile
	$38,000

	James’ automobile
	$7,000

	James’ credit card
	($5,000)


Income/Expense Data

	Harold’s self-employment income
	$280,000

	James’ income
	$62,000

	Harold’s investment income
	$17,000

	James’ investment income
	$200

	Joint monthly expenses (excluding mortgage and taxes)
	$10,000


Other Pertinent Information

· Harold and James are a same-sex couple and have been together for 7 years; they both live in the house that Harold owns

· Harold has inherited money in a trust from his mother that is intended to be a generation-skipping trust; the trust allows for distributions for health, education, maintenance, or support; most years, Harold has not taken withdrawals from this account; the trust reverts back to Harold’s brother at his death if he has no children

· Harold has a will that leaves everything to his parents; Harold has a power-of-attorney and health care power-of-attorney that names his father as attorney-in-fact

· James has no estate documents

· Harold runs a successful consulting practice out of his home

· Harold states that he is fairly aggressive, and his investment account is almost entirely (90%) equity investments

· James contributes $3,000/year to his 401(k), just enough to obtain the maximum matching contribution offered by his employer

· Harold contributes $10,000/year to his SAR-SEP IRA

· James and Harold live a fairly extravagant lifestyle of dining out and vacations, funded primarily from Harold’s income and assets. However, James still provides the primary support for his basic living needs.

· Neither James nor Harold has any life or disability insurance

· James is the beneficiary of Harold’s SAR-SEP IRA

· James’ sister is the beneficiary of his 401(k)

· The primary residence mortgage is a 5/1 ARM 30-year loan, and was taken out exactly 2 years ago (Harold has made 24 payments) at a rate of 7.25%

· James is currently paying a 16.99% annual interest rate on his credit card debt

Goals

1.
Save for retirement

2.
Provide for each other in the event of death

Economic Environment

The economy has been growing strong after rebounding from a recent recession. Current inflation, as measured by the CPI, is at 2.9%. 90-day T-bill rates are currently 4.5%. Long-term government bonds are yielding 5.5%. Economic growth was 5.5% last year, and unemployment is at 4.7%. Interest rates are expected to be flat in the near future. Economic growth is expected to slow in the coming years.

Questions

1.
Harold has stated that he would like to maximize his retirement contributions while maintaining substantial flexibility in the years that he makes contributions. He anticipates that he will be able to save anywhere from approximately $10,000 to $60,000 per year. Assuming Harold could make the maximum contribution permitted by tax law to each of the following retirement plans, which of the following plans would allow Harold to make the largest total pre-tax contributions?

a)
SAR-SEP IRA

b)
Individual 401(k)

c)
Profit-Sharing Plan

d)
All of the above will have an equivalent maximum contribution with Harold’s current income

2.
What is the total value of James’ assets?

a)
$55,000

b)
$50,000

c)
$48,000

d)
$14,000

3.
What filing status can James and Harold use for federal income tax purposes?

a)
Joint, because they have been domestic partners for 7 years

b)
Joint filing separately, because James and Harold are not legally married but are a committed couple

c)
Single (filed separately for each), because James and Harold are not legally married

d)
Head of household (for Harold), because Harold is the primary earner of the household

4.
Harold is very concerned he may be subject to Alternative Minimum Tax (AMT). Which of the following strategies are appropriate to recommend to Harold to minimize the likelihood of an AMT liability?

a)
Stop paying state income taxes, because they are an AMT adjustment item

b)
Maximize Harold’s home office deductions such as real estate taxes on his Schedule C (to the extent allowable), rather than as itemized deductions on his Schedule A

c)
Avoid purchasing all municipal bonds

d)
All of the above

5.
James would like to make payments to Harold to assist with the mortgage, since James has been living in the house with Harold for many years. What are the tax consequences of these payments?

a)
Harold must recognize the payments as rental income

b)
James may deduct a portion of the mortgage interest on his tax return

c)
Both A and B are correct

d)
Neither A nor B are correct

6.
If Harold were incapacitated tomorrow, which of the following is true based upon the current situation?

a)
James may legally make medical decisions for Harold, because they have been a domestic couple for 7 years

b)
James may legally manage the financial and administrative affairs for Harold, because they have been a domestic couple for 7 years

c)
Both A and B are true

d)
Neither A nor B are true

7.
Harold is very concerned about the reliability of James’ automobile, and would like to purchase a new vehicle for James for his birthday in 2015. When James’ birthday comes, the couple purchases a vehicle for $25,000 (using Harold’s money), and title the car in James’ name. Are there any gift tax consequences to this car purchase?

a)
No, the transaction is totally exempt from gift tax

b)
No, because couples that make gifts to each other receive an offsetting deduction, with the result that no gift taxes are due

c)
Yes, Harold will have to recognize at least a $11,000 gift to James, using a small portion of Harold’s lifetime gift tax unified credit

d)
Yes, Harold will have to recognize at least a $25,000 gift to James, using a small portion of Harold’s lifetime gift tax unified credit

8.
James is concerned about his level of credit card debt, and would like to discuss options to manage this debt. Which of the following strategies might potentially be an appropriate option for James?

a)
Use the cash in the bank account to pay off the credit card debt, and then utilize the credit card as an emergency if he needs cash for a future purchase

b)
Take a loan distribution from the 401(k) to pay off the credit card debt at a favorable rate

c)
Reduce expenses to increase cash flow payments and accelerate the pay-off of the credit card debt

d)
All of the above

9.
If James were to die in his current situation, his bank account would pass to:

a)
Harold, because they have lived together for 7 years

b)
The state intestacy fund

c)
His living family members, according to the specifications of state law

d)
None of the above

10.
James is considering the establishment of a personal computer consulting business out of the home that he shares with Harold. If James sets up a home office, he will be able to deduct:

a)
A portion of real estate taxes as a home office business deduction

b)
His health insurance premiums

c)
A portion of the monthly mortgage payments for the house

d)
All of the above

11.
If James were to die today, his 401(k) account would be distributed to:

a)
Harold

b)
His sister

c)
It would depend on his state intestacy statute, because James does not have a will

d)
None of the above

12.
If James were to become ill, and Harold paid his medical expenses, which of the following is true regarding the tax treatment of Harold’s payments?

a)
They are deductible as an above-the-line health expense, because Harold is self-employed

b)
They are deductible as an itemized medical expense deduction subject to a 10%-of-AGI floor

c)
Either A or B may apply

d)
Neither A nor B may apply

13.
Harold is considering a refinance of his current mortgage, to a 15-year loan at an annual interest rate of 6.25%, rather than his current rate of 7.25%. The total refinance costs are approximately $2,000, and will be capitalized into the new loan balance. The monthly payment of Harold’s new mortgage will be (to the nearest dollar):

a)
$1,329

b)
$1,346

c) 
1,415

d) 
1,433

14.
If Harold dies without having any children and the trust balance is distributed outright to his brother, for generation-skipping tax purposes this payment will be considered a:

a)
Direct skip

b)
Taxable distribution

c)
Taxable termination

d)
None of the above

15.
What was the original balance of Harold’s mortgage (to the nearest thousand)?

a)
$158,000

b)
$160,000

c)
$165,000

d)
None of the above

16.
If Harold manages to earn an average annual rate of 5% on his SAR-SEP IRA (compounded semi-annually) over the next 21 years, his estimated balance will have grown to (rounded to the nearest thousand):

a)
$95,000

b)
$135,000

c)
$175,000

d)
None of the above

17.
If James chooses to make a monthly payment of $125 on his credit card, instead of the minimum monthly payment of $100, approximately how much faster will he pay off his current credit card balance?

a)
12 months

b)
28 months

c)
32 months

d)
60 months

18.
If Harold manages to earn an average annual rate of 5% on his SEP-IRA (compounded annually) over the next 26 years, and continues to make annual contributions of $10,000/year, his estimated balance will have grown to (rounded to the nearest thousand):

a)
$171,000

b)
$511,000

c)
$682,000

d)
None of the above

19.
Harold is considering the purchase of a life insurance policy to provide for James in the event that Harold passes away. If Harold were to purchase and own a life insurance policy for $3,500,000 with James as the beneficiary, the potential tax consequences if Harold died in 2015 would be:

a)
No estate tax liability on Harold’s estate

b)
Taxable income to James for the entire $3,500,000 death benefit

c)
Both A and B are true

d)
Neither A nor B are true

20.
James’ parents die unexpectedly, and leave him a house that they had owned and lived in for more than 30 years. If James sells the house in 10 months, the $50,000 of capital gains on the house over that 10-month period will be:

a)
Taxed as a short-term capital gain, because the house has been held less than one year since the date of death

b)
Taxed as a long-term capital gain, because the house was inherited

c)
Excluded from income, because James’ parents owned and lived in the house for at least two of the past five years

d)
None of the above

Janice Peterson

Personal Data

	Client:
	Janice Peterson, age 50, Accountant

	Children:
	Carolyn, age 14

	Janice’s parents:
	Mother, age 70, terminally ill; father, deceased


Financial Data

	Primary residence (Janice)
	$250,000

	     Mortgage on primary residence
	($205,000)

	Cash account (Janice)
	$6,000

	Cash account (Mother)
	$1,000

	Janice’s 401(k)
	$153,000

	Janice’s investment account
	$72,000

	Janice’s automobile
	$4,000

	Janice’s credit card
	($13,000)


Income/Expense Data

	Janice’s income
	$135,000

	Janice’s investment income
	$3,500

	Family monthly expenses (excluding mortgage and taxes)
	$6,000


Other Pertinent Information

· Janice has been a widow for eleven years

· Janice’s mother is in a nursing home and is terminally ill, and is expected to live only 2-4 months; she has no remaining assets besides her small bank account, and is currently on Medicaid

· Janice owns a $350,000 term life insurance policy on her mother (it was given to Janice six years ago), and has named herself as beneficiary

· Janice has a will that leaves everything outright to Carolyn and a power-of-attorney and health care power-of-attorney that names her mother as attorney-in-fact

· Janice’s mother has a will that leaves everything to Janice and a power-of-attorney and health care power-of-attorney that names Janice as attorney-in-fact with no successor

· Janice states that she is extremely conservative, and her investment account is almost entirely (80%) fixed-income investments

· Janice contributes $13,000/year to her 401(k)

· Carolyn is the beneficiary of Janice’s 401(k)

· Janice has a $500,000 20-year term life insurance policy that was taken out three years ago; Carolyn is the beneficiary

· Janice has a disability insurance policy paid for by her employer that provides 60% of her income up to $7,000/month; the policy has a 90-day elimination period and provides benefits until age 65; the policy provides benefits if Janice is unable to perform the duties of any occupation for which she is reasonably qualified by education, training, and experience

· The primary residence mortgage is a 3/1 ARM 30-year loan, and was taken out 1 year ago at 4.25%; $75,000 of these proceeds were part of a cash-out refinance that was spent on high quality medical treatment for her mother last year while Janice was fully supporting her mother

· Janice is currently paying an 18.99% annual interest rate on her credit card debt

Goals

1.
Provide an adequate quality of life for Janice’s mother in her final months

2.
Begin developing a college fund for Carolyn

3.
Begin planning for future retirement

Economic Environment

The economy has been growing steadily for several years. Current inflation, as measured by the CPI, is at 3.1%. 90-day T-bill/money market rates are currently 4.5%. Long-term government bonds are yielding 6.5%. Economic growth was 3.5% last year, and unemployment is at 4.5%. Interest rates are expected to be flat in the near future. Economic growth is expected to continue to be steady in the coming years.

Questions

1.
What is the regular tax treatment of the $75,000 of payments for Janice’s mother’s medical expenses last year?

a)
Deductible as medical expenses subject to a 7.5%-of-AGI floor on Janice’s tax return

b)
Deductible as medical expenses subject to a 10%-of-AGI floor on Janice’s tax return

c)
Deductible as medical expenses subject to a 7.5%-of-AGI floor on Janice’s mother’s tax return

d)
Not deductible at all because Janice’s mother did not pay for her own coverage

2.
If you were to draft a Personal Financial Statement for Janice, the total value of Janice’s assets would be:

a)
$486,000

b)
$485,000

c)
$268,000

d)
$267,000

3.
What are the potential concerns of Janice’s current estate distribution plan?

a)
Property will be distributed outright to a minor who cannot legally manage assets

b)
Carolyn may not be responsible enough yet to make good spending decisions with such a large amount of assets

c)
Both of the above are issues for concern

d)
None of the above are issues for concern

4.
Janice’s mother has accumulated substantial expenses under the Medicaid system. When Janice’s mother dies, the state will:

a)
Place a lien against Janice’s house to recover Medicaid expenses

b)
Demand payment for Janice’s mother’s Medicaid costs against the life insurance proceeds

c)
Deny burial rights until Janice’s mother’s outstanding bills are paid

d)
None of the above

5.
When Janice’s mother dies, the tax consequences of the life insurance policy she owns on her mother will be:

a)
$350,000 of income must be recognized by Janice that will be subject to income taxation

b)
The $350,000 death benefit must be included in Janice’s mother’s estate, where it will be potentially subject to estate taxation

c)
The $350,000 death benefit will be considered a gift from Janice’s mother to Janice, and will be potentially subject to gift taxation

d)
None of the above

6.
If Janice were to name Carolyn as the beneficiary of the life insurance policy on her mother, and then her mother dies, the tax consequences would be:

a)
Janice would be subject to gift taxation for a gift to her daughter

b)
Janice’s mother would be subject to gift taxation for a gift to her daughter

c)
Janice’s mother would be subject to generation-skipping taxes for a gift to her granddaughter

d)
None of the above

7.
Janice’s 401(k) contribution limit in 2015 is:

a)
$17,500

b)
$18,000

c)
$23,500

d)
$24,000
8.
If Janice were to become disabled tomorrow, the benefits of her policy would be:

a)
Fully taxable when paid to Janice

b)
Partially taxable when paid to Janice

c)
Not taxable when paid to Janice

d)
Unable to be determined from the information provided

9.
If Janice’s minimum monthly payment is $400, then how long will it take to pay off her credit card by making only the minimum monthly payments?

a)
36 months

b)
40 months

c)
46 months

d)
58 months

10.
If Janice has made exactly 12 monthly payments thus far on her current mortgage, then what was the original balance on her mortgage (to the nearest thousand)?

a)
$207,000

b)
$209,000

c)
$210,000

d)
$212,000

11.
What is the tax treatment of the interest that Janice pays on the $75,000 of cash-out refinancing?

a)
Fully deductible mortgage debt

b)
Fully deductible mortgage debt, but nondeductible for Alternative Minimum Tax (AMT) purposes

c)
Fully deductible because the proceeds were used for qualified medical purposes

d)
Nondeductible

12.
If a financial planner is reviewing Janice’s estate documents, items to be concerned about include whether a:

a)
Guardian is named for Carolyn

b)
Successor attorney-in-fact is named after Janice’s mother

c)
Personal representative has been named

d)
All of the above

13.
Janice would like to begin setting aside money to purchase a car for Carolyn in two years. If Janice is prepared to set aside monthly payments to save $5,000 over the next 24 months, and will be investing these funds in a money market, then she should save (to the nearest dollar):

a)
$195

b)
$199

c)
$202

d)
$208

14.
If Carolyn will attend school four years from now, college costs are inflating at 6%, and the current cost of in-state college tuition is $10,000, then the cost of Carolyn’s first year of college will be (to the nearest dollar):

a)
$11,800

b)
$11,910

c)
$12,400

d)
$12,625

15.
Janice plans to set aside a portion of the proceeds from her mother’s life insurance policy for Carolyn’s college education, and wants to know how she should save these funds. Janice wants to maximize control over the funds and would like to minimize taxes. Janice plans to contribute $50,000. Consequently, Janice should deposit the funds into a/an:

a)
Taxable account in her own name, ear-marked for Carolyn’s education

b)
UTMA account for Carolyn’s benefit

c)
529 college savings plan

d)
Coverdell education savings account

16.
Potential risks for Janice under her current investment strategy for retirement may include:

a)
Inflation/purchasing-power risk

b)
Interest rate risk

c)
Both A and B are true

d)
Neither A nor B are true

17.
Strategies for Janice to improve her future ability to retire include:

a)
Reduce monthly spending to allow more cash flow for savings

b)
Pay off high-interest credit card debt as soon as possible

c)
Seek out opportunities to increase income without increasing expenses

d)
All of the above are true

18.
If Janice were to deposit $10,000 into an UTMA account in Carolyn’s name, the $450 of interest income (in 2014, assuming Carolyn has no other income) would be:

a)
Not subject to tax

b)
Taxed at Carolyn’s tax bracket/rates

c)
Taxed at Janice’s tax bracket/rates

d)
Taxed at a flat 15% rate

19.
Janice is considering the possibility of going into business for herself as a self-employed accountant. If Janice becomes self-employed, she will be able to deduct which of the following business expenses?

a)
One-half of her self-employment taxes

b)
100% of her medical insurance

c)
Both A and B are deductible

d)
Neither A nor B are deductible

20.
Janice has come to you as a financial planner and requested a financial plan. In determining how you should be compensated for this service, with a focus on professional ethics, you should:

a)
Not charge Janice, since she has credit card debt

b)
Only charge Janice a fee, because your recommendations are not valid if you receive a commission

c)
Be paid via commission, because Janice cannot afford to pay a fee

d)
Charge in any way that is fully disclosed, agreed upon by Janice, and is reasonable in relation to the services that you provide

Tom and Sharon Brown

Tom and Sharon Brown are not happy with their current investment advisor. They are seeking investment management and financial advisory services from someone they can trust.

You are a registered investment advisor in your home state of Kansas. You have been in business for seven years and work with a select group of 70 clients. You offer financial and investment planning advice for either a percentage of assets under management or hourly fees.

During the initial meeting with the Browns, you gather the following financial information:

Personal Data & Background Information

	Primary Contact:
	Tom Brown

	
	Age: 53

	
	Occupation/Title: Operations Management / VP of Operations

	Secondary Contact:
	Sharon Brown

	
	Age: 56

	
	Occupation: Home Maker

	Children: Tom does not have any children of his own. Sharon has three children in college from her previous marriage; Maggie, 18; Shelby, 20; Candy, 22.

	Marital Status: Comfortably married for eight years.


Relevant Financial Information

· The Brown’s estimated net worth is $3 million. The majority of their financial wealth is allocated among Individual Retirement Accounts, Tom’s 401(k) plan, and a taxable investment account.
· Sharon was widowed in her first marriage and the majority of the savings in the taxable account is life insurance proceeds. The account is a joint account and Sharon hopes to use a portion of the savings to help her girls purchase their first home. They have a 529 plan for college expenses.

· Tom has an above average risk tolerance and Sharon leans more toward conservative, low risk investments.
Financial Objectives

· Seek and find a reputable, ethical investment advisor to aid in their wealth accumulation and financial development.
· Both have had undesirable experiences in the past working with other financial planning professionals and seek to understand the regulatory and ethical requirements for financial planners.
· Work with an advisor to help them agree on an investment strategy to preserve their savings for future retirement.
Questions

1.
In your first meeting with Tom and Sharon, they are very inquisitive about the compensation of investment advisors. According to the SEC, which of the following are considered forms of compensation?

a)
Receipt of any economic benefit

b)
Single fee charged for advice given on financial outlook

c)
Commission paid on sale of investment and/or insurance product

d)
Hourly fee charged reporting and analyzing financial situation

e)
All of the above

2.
Tom and Sharon are ready to engage your financial planning services; however, they have one concern. Tom is concerned that you are not properly qualified to manage his assets because you are not registered with the SEC. What is your best response?

a)
The individual state securities departments collectively assist in the management of the SEC. Therefore SEC regulation is neither permitted nor required if an investment advisor is registered with his or her state.

b)
Registering as an investment advisor in your state is the same as registering with the SEC because many state investment advisor regulations are patterned after the federal Investment Advisor Act of 1940.

c)
Investment advisors with less than $25 million of assets under management are generally prohibited from registering with the SEC.

d)
Investment advisors with less than 100 clients are generally prohibited from registering with the SEC.

e)
All of the above

3.
Tom and Sharon have asked you to manage and take custody of their investment accounts. You:

a)
Agree to their request because they have over $1 million in assets; the minimum limit required by law.

b)
Disagree because they don’t have over the $5 million in assets; minimum limit required by law.

c)
Agree, and begin to transfer the funds, immediately disclosing the holding location.

d)
Disagree, because investment advisors are not allowed to take custody of their client’s investment accounts.

4.
Tom and Sharon have asked you to make investment recommendations for their Individual Retirement Accounts. They have agreed to moderate risk, conservative investments that keep up with inflation. Which of the following are suitable recommendations?

I.
Municipal Bonds

II.
Mutual Funds

III.
Corporate Bonds

IV.
Stocks

a)
IV only

b)
I and II

c)
I, III, and IV

d)
II, III and IV

e)
All four are suitable recommendations.

5.
You presented an investment policy for Tom and Sharon’s accounts. However, Tom insists that you continue his current method of investing. One year later, they realized a 22% loss in their accounts. You should:

a)
Suggest that Tom and Sharon find a new investment advisor

b)
Communicate that you are acting only in the direction given by them

c)
Refund a portion of your fee to compensate for the loss

d)
Split the total loss with Tom and Sharon

6.
Tom requests you place a trade to buy 2000 shares of XYZ stock in his account that he has been researching on his own. A month later, after researching the stock yourself, you decide that it would be a great investment for your personal finances. You purchase 5000 shares and disclose the purchase to Tom. Is this ethical?

a)
Yes. It is permissible to place an order in your personal financial account at the same time and/or after the purchase was placed for your client.

b)
Yes. You are protected by the fifteen day waiting period requirement to purchase the same stock as your client.

c)
No, because your purchase might make the stock price rise and your client will have a personal gain.

d)
No, because you are not allowed to use advice on investment purchases from your clients for personal reasons.

7.
Yesterday, Tom was golfing with his best friend, Phil, who is the CEO of ABC company. In conversation, Tom learns that Phil will be announcing next week that ABC company fourth quarter revenue significantly exceeded projections. Tom tells you about the conversation and instructs you to purchase 2000 shares of the stock. What should you do?

a)
Purchase the stock as instructed by your client.

b)
Refuse to purchase the stock and request that Tom no longer engage your services.

c)
Ask Tom to put the request in writing, and then you will place the trade.

d)
Advise Tom to purchase the stock at a later date after the announcement has been made public.

8.
Sharon’s youngest daughter, Maggie calls you directly. She informs you that Sharon requested she call and obtain the balance of the 529 plan that Sharon uses to pay her yearly education expenses. You should:

a)
Suggest that the Browns set up a meeting in your office to go over the account with Maggie.

b)
Disclose the information over the phone because you represent Tom, Sharon, and their children as clients.

c)
Give Maggie the online account password to check the balance herself.

d)
Request permission directly from Sharon to discuss the account with Maggie.

9.
As an investment advisor, you are required by the Investment Advisor Act of 1940 to provide the Browns with information regarding the background and practices of your business. How often are you required to deliver this information?

a)
Only once at the beginning of the advisory relationship.

b)
At the beginning of the relationship, and semi-annually there after.

c)
At the beginning of the relationship, and annually there after.

d)
At the beginning of the relationship, and every time you make an update.

10.
Sharon, whom you never spoke with following the first client meeting (Tom handles all the financial affairs), calls to inform you that she is filing for divorce. She has asked you to notify her if Tom requests to withdraw funds from the jointly held taxable account. You:

a)
Explain to Sharon that you represent Tom because he is the primary contact on the accounts

b)
Suggest to Sharon that she open a new account and transfer half the account balances

c)
Put a “hold” on the accounts to prevent future withdrawals from either party

d)
Follow the requests made by Sharon within the limits of joint account ownership

Cindy Wilson

Cindy Wilson was referred to you by one of your best clients. She is stressed about her financial situation and is seeking financial advice for the first time. Over the past year, she has incurred several major expenses that she did not expect to pay. Last year, she faced major medical and personal expenses and used her credit cards to cover the majority of these expenses; however, she is now approaching the limits on these cards. She is uncomfortable with her current debt load, and worries that she will not be able to cover future expenses if additional setbacks arise. She would like to know how to best go about restructuring and reducing her debt in the coming year to improve her financial outlook.

Personal Data & Background Information

Client: Cindy Wilson

Age: 32

Health: Excellent

Occupation: Nurse

Marital Status: Divorced

Children: One child, Logan, Age 8

Relevant Financial Information

CINDY WILSON

Estimated Monthly Cash Flow Statement

12/01 through 12/31

	Income
	

	Salary1
	$3,168

	Child Support
	$450

	Expenses 
	

	Roth IRA Contribution
	$300

	Mortgage (PITI)
	$892

	Car Payment
	$316

	Food
	$220

	Utilities
	$200

	Car Operation (gas, oil, repairs)
	$110

	Life Insurance
	$30

	Auto Insurance
	$110

	Child Care
	$310

	Clothing
	$155

	Entertainment
	$120

	Gifts
	$40

	Income Taxes
	$315

	Credit Card Payment
	$128

	Medical Bill Payment
	$120

	Student Loan Payment
	$120

	
	

	1. Works three, twelve hour shifts a week at $22 per hour, 48 weeks per year.

	


CINDY WILSON

Statement of Financial Position

As of 12/31

	Assets
	

	Checking Account
	$550

	Savings Account
	$2,300

	Primary Residence
	$135,000

	Roth IRA
	$55,200

	Personal Property
	$35,000

	Car
	$15,300

	TOTAL ASSETS
	$243,350

	Liabilities 
	

	Primary Residence
	$92,000

	Auto Loan
	$16,000

	Student Loan
	$4,900

	Credit Cards
	

	Discover Card1
	$3,500

	Visa Card2
	$5,600

	Community Medical Center3
	$1,200

	TOTAL LIABILITIES
	$117,300

	NET WORTH
	$126,050

	1. 14.99% APR; minimum monthly payment of $39

	2. 18% APR; minimum monthly payment of $89

	3. Remaining medical expenses to be paid; agrees to pay $120 per month until balance is paid. No interest charged.


Client Goals

1.
Create a debt reduction plan to pay down credit card balances over a 2-year period
2.
Evaluate the most productive way to restructure financial resources to improve financial situation and/or monthly discretionary income
3.
Prioritize debt payments to determine which debts she should pay down first
4.
Determine whether a home equity loan or line of credit is a good option to consider for help with debt repayment
5.
Begin building her savings account to protect her in the future if another financial strain occurs
Questions

1.
Cindy is unsure how a financial planner can help her improve her financial situation. In your first meeting, you explain how you will help her using the financial planning process. In order, from start to finish, how will you help Cindy?

I.
Implement and execute plan

II.
Gather data and background information

III.
Develop financial plan

IV.
Establish financial goals

V.
Monitor and measure performance

a)
IV, II, III, I, V

b)
II, IV, III, I, V

c)
III, IV, II, I, V

d)
IV, II, III, V, I

2.
How much additional discretionary income does Cindy have remaining at the end of each month that could be applied to medical and credit card payments?

a)
–$318

b)
$132

c)
$248

d)
$380

3.
How much could Cindy pay each month if she were to combine her monthly discretionary cash flow with what she is currently paying toward medical bills and credit cards?

a)
$132

b)
$248

c)
$380

d)
$512

4.
Which of the following are examples of Cindy’s unsecured debt(s)?

I.
Credit Cards

II.
Home Mortgage

III.
Medical Bills

IV.
Student Loan

V.
Car Loan

a)
I, III

b)
II, V

c)
I, III, V

d)
I, III, IV

5.
Cindy wants to pay off her VISA card balance within one year from today. To accomplish this goal, what will be her monthly payment, rounded to the nearest dollar, to accomplish this goal?

a)
$89

b)
$320

c)
$505

d)
$513

e)
Not enough information to determine answer

6.
Cindy has indicated that she is willing to restructure her income and expenses to devote more income to paying off her credit cards. You have recommended that she increase the amount being paid towards her Discover and VISA cards by the following amounts:

Discover
$100

VISA
$160

Using the debt to income ratio (with the increased credit card payments), which statement is correct?

a)
Cindy’s debt to income ratio is less than 8%; this illustrates that Cindy’s financial leverage is less than average if an emergency should arise.

b)
Cindy’s debt to income ratio is less than 10%; this illustrates that Cindy’s financial leverage is better than average financial leverage if an emergency should arise.

c)
Cindy’s debt to income ratio is 26%; this illustrates that Cindy has less than average financial leverage if an emergency should arise.

d)
Cindy’s debt to income ratio is 20%; this illustrates that Cindy has better than average financial leverage if an emergency should arise.

7.
Cindy is willing to consider using a home equity loan to pay off her credit cards. All of the following are advantages of this strategy EXCEPT:

a)
Cindy could pay less in total interest if amortized over a 5-year period.

b)
The interest could be tax deductible if deductions are itemized on her tax return.

c)
Cindy could improve her debt to income ratio giving her more financial leverage in the future if an emergency should arise.

d)
Cindy is securing her unsecured debt, which gives her more financial leverage when paying the monthly payments.

8.
According to your best estimate, how much money would Cindy save per month if she transferred her credit card debt to a home equity loan? She is assuming the home equity loan would be amortized over a five year period with a fixed interest rate of 7%, compared to paying both her credit cards down over a five year period at the current APR.

a)
$45

b)
$40

c)
$35

d)
$20

e)
Not enough information to determine answer

9.
Cindy’s purse was stolen out of her car. She immediately calls her credit card companies to report the incident, even though no charges were made at the time. Three days later, she notices the following unauthorized transactions were charged.

Discover Card
$344

Visa Card
$28

How much will Cindy be responsible for paying?

a)
$0

b)
$100

c)
$128

d)
$380

10.
If Cindy made a lump sum payment of $1,000 from her savings today toward the balance of her VISA card, approximately how much will she save in interest over a 1-year period, if no other payments are made?

a)
$180

b)
$500

c)
$800

d)
$1,180

Jeff and Sharon Williams

Jeff and Sharon Williams have been your clients for five years. They are very happy with your services and you’re preparing to conduct their annual financial checkup meeting. During this meeting, you review their goals, update their financial data and review their investment performance.

Personal Data & Background Information

	Husband:
	Jeff Williams, age 45, Golf Course Manager

	Wife:
	Sharon Williams, age 45, Teacher

	Marital Status:
	Happily married for 25 years

	Children:
	Three Children: Jarrod 24, Brett 18, Susan 16


Client Goals for this Year

Short Term Goals

1.
Begin saving to purchase a new SUV for Jeff in five years

2.
Review education fund savings to determine the amount that can be withdrawn to pay for Brett’s education expenses this year

3.
Review loan given to Jarrod to purchase a car

4.
Help Susan learn the value of saving a portion of her part-time income for future goals and needs

Long Term Goals

1.
Maximize contributions to IRA accounts and employer sponsored retirement accounts to meet retirement needs. Jeff and Sharon would like to retire at age 60

2.
Annually update and review estate planning needs

3.
Review savings plan to pay the complete education expenses for all three children

JEFF AND SHARON WILLIAMS

Statement of Financial Position

As of 12/31

	ASSETS (Fair Market Value):
	

	Cash
	

	Checking account
	$2,200

	Money market account
	$10,200

	Investments
	

	Roth IRA – Sharon
	$325,000

	Traditional IRA – Jeff
	$201,000

	Education savings
	$70,000

	401(k) – Jeff
	$506,000

	403(b) – Sharon
	$105,000

	Taxable account
	$87,000

	Real Estate
	

	Primary residence
	$307,000

	Other Assets
	

	Sharon’s auto
	$12,500

	Jeff’s auto
	$5,600

	Personal loan1 as of three years ago
	12,000

	Personal property
	$50,000

	LIABILITIES:
	

	Mortgage payable – primary residence
	$250,000

	Sharon’s auto
	$4,500

	

	1.  This personal loan was given to Jarrod to purchase a car.


Questions

1.
Sharon would like to have $1,000,000 saved in her Roth IRA by the time she retires. If she contributes $5,000 per year at the beginning of each year until retirement, at an average 6% return, will she make her goal?

a)
No, she will be short approximately $122,000 of her goal

b)
No, she will be short approximately $98,000 of her goal

c)
Yes, she will have approximately $98,000 more then her goal

d)
Yes, she will have approximately $122,000 more then her goal

2.
Jeff would like to set up an escrow account that produces an after-tax annual return of 4% to make a cash purchase towards a $40,000 car in five years. How much should they save per month to accomplish this goal?

a)
$600

b)
$603

c)
$614

d)
$623

3.
Jeff’s IRA balance at the beginning of last year was $178,880, after he made his annual contribution. What is Jeff’s return on investment rounded to the nearest percent?

a)
-2%

b)
7%

c)
9%

d)
12%

e)
Not enough information to solve

4.
Jeff and Sharon gave Jarrod, their oldest son, a loan to purchase a car for $12,000 three years ago. They agreed to an interest rate of 6.5% and monthly payment of $250. What is the balance of the loan today?

a)
$3,255

b)
$3,625

c)
$4,514

d)
$4,668

5.
Jeff and Sharon bought 200 shares of growth stock at $55 per share in their taxable account. Today the stock is worth $28,165 with an average annual after tax return of 7.5%. How many years have they owned the stock?

a)
5

b)
6

c)
8

d)
13

e)
Not enough information

6.
Jeff and Sharon are beginning to teach Susan the value of saving a portion of her money from a part-time job. If she saved $100 today at an interest rate of 8%, compounded semi-annually, how many years would it take her to double her money?

a)
8.8

b)
12.7

c)
16.9

d)
17.6

e)
Not enough information

7.
Brett is starting college this year and Jeff and Sharon need to withdraw $10,000 from their education savings at the beginning of each year to pay tuition and books for the next four years. They expect to earn 11% compounded annually on their education savings. What will be the value of the account when Brett graduates in four years?

a)
$32,192

b)
$45,235

c)
$53,987

d)
$59,167

8.
Sharon’s parents bought the kids a total of 100 shares of aggressive growth stock three years ago at $40 per share. The current value of the stock is $30. The following dividends have been paid on the stock at the end of the year:

Year 1 
$3.45

Year 2 
$4.25

Year 3
$5.75

What is the internal rate of return (IRR) earned on this investment?

a)
-3%

b)
-1.3%

c)
2.3%

d)
3.07%

Use the following information to answer questions 9-11: Rather then paying rent, Jeff and Sharon want to purchase, with cash, a $95,000 town home for their son Brett to live in while attending college. They expect the home to increase in value at a rate of 5% annually. The opportunity cost for the cash purchase is 7% (discount rate). They believe Brett can find roommates to pay rent toward the purchase that will produce the following net after-tax cash flows:

Year 1
$300

Year 2
$300

Year 3
$400

Year 4
$500

9.
What will the value of the home be if sold at the end of the fourth year?

a)
$99,750

b)
$115,473

c)
$124,525

d)
$132,152

10.
What is the NPV of the investment at the end of the fourth year?

a)
-$5,656

b)
-$3,962

c)
$2,967

d)
$3,894

11.
Is this a good investment for Jeff and Sharon from a purely financial standpoint?

a)
Yes, because the NPV implies that the rate of return on future cash flows is greater then the opportunity cost used to discount future cash flows

b)
No, because the NPV implies that the rate of return on future cash flows is less then the opportunity cost used to discount future cash flows

